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g ‘a1’ (5x 2=10)
Section ‘A’

Gz @ ate v ® ea F @ vl & o
T & | G Fageet aur w49 F I
FH !

NOTE : Antempt all the five questions. All questions
carry equal marks. General calculator and
graph paper 1o use.

1. ST AUl SR YIe i GHEa |

Explain the terms logarithm and antilogarithm.
P.T.0.
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2. s AR E =
What is matrix 2 © % TR sEEes HfE—
3. g w5 g a2—x2
Explain the compound proportion. e
4. Tt 3 mﬁ = T Differentiate with respect to x :
Explain the kinds of annuity. g Z;%fz'
S CRIEl T FHYE A 3 ) s E 7 2. o 1 HE TR S —
What ' df’ you understand by brokerage and P
commission ? 254].
610

g ‘g’ (5% 4=20)
Section ‘B’

Find the value of the determinant :

131
R — 254].
T 4 5% smfem )
NOTE :  Attempt one question from each unit. Each unis it
carries 4 marks. Or
L M 2=4x5 4 33 4 (53 ) o 92 321 023
b T 3 TN Gy, T T W A=~C=BaRA=| (L LB=| 5,
‘fi’-=4x5+3x“y3+y5,thenrmd§§andg—;. ®, 3 S C 1 5F I
R
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023]

IfA-C=Band A = 2
i X el | 230 Aty

053
find the value of matrix ‘C’.

. A @ fafe ) wweEd |

Explain the least cost method.

i
Or

ofe; 1w fereiram #a = e sz.%am@%@m
W H qEE 5 F & A A a0 G F qedl S
4 |

If one kg. of apples cost Rs. 8 and one kg. of
oranges cost Rs. 5, what is the ratio of the cost of
the apples to the cost of the oranges.

15 7R, 2001 @ 14 Tad, 2002 7% 7.800 5. &
6% aferad #1 20 / RO S HT 0 Hife |

Find simple interest of Rs. 7.800 from 15th
November, 2001 to 14th February, 2002 at 6% per
annum.
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Or

25000 . %1 2 94 F1 wHgfg == § fagya #n €m
If I aul 1 T 4% 91 5% s B

How much will Rs. 25,000 amount to in two years
at compound interest if the rates for the successive
years be 4% and 5% per year ?

. UE FHI, 2 o dw w e e 210 % &, ARk

fam =i ¥ %1 964 250 T B @ FE H qed qa@ed |

The average price of a chair, a table and bench is
Rs. 210. If the price of a table and a bench is Rs.
250, find the price of a chair,

K[
Or

280% F21 % fren wfama & 2
What per cent Rs. 21 is of Rs. 280

s ‘g’ (5x9=45)
Section ‘C’
: UEIF FFE A UF 99T & FACI TOF T &
fore 9 s amEfea &1
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NOTE :

Attempt one question from each unit. Each unit
carries 9 marks,

1. W‘\' =2x3_

15r2+36x+1|%3ﬁaqa:mq
T ST Fiferg |

Find the maximum and minimum valye of the
function y=2x3_ 152 4 36x+11.

HYFT
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Or

SO ARV F A 1 Fifg—

3
46 x (0726)* x V8322
(07241)4 x 6273 °

Find the value with the help of logarithm tables -

3
6 x (0726)} x V8342

(07241 x V6273 °
2. WRIE ¥ 19w
29 26 22

2531 27|.
63 54 46

i

(7)

Find the value of the following determinant :

29 26 22
25 31 271.
63 54 46

EREl

Or

123 456
e A=| 223|,B=| 55 6|, fag=d AB =
323 656
BA

123 456
IfA=[2 23|andB=| 5 5 6|, then prove that

323 656
AB = BA.

3. mmmaﬁmmﬁﬁmmm
) YU a1 FaRt SR kg % = fafEu)

Explain Simplex method for solving a linear
programming problem and write the computational
procedure.
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Sﬂ
Or
AT S F =gAan =y fafa 3 ge Fifa—
@ f
i my mz m3 ‘
Wy 16 19 l; 7I74 V
w2 22 13 1 he 16
w3 14 28 8 12
wiT 10 15 1 42
Solve the following transportion problem by lowest
cost method :
w
a,%o% my my m3 Supply
Wy 16 19 12 14
w2 22 13 19 16
w3 14 hlip 28 8 : | 12
Demand 10 15 17 | 42
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4, e gl 4 59 wfqad == &t 2 A/ 1200 5 FH

wFafE =Ae 573 %. B SR 4fg = 1 TvE gfaead
&1 et & ?

In what time a sum of Rs. 1,200 will earn Rs. 573
as compound interest at the rate of 5% per annum if
the interest is added annuity ?

i
Or

WAL A T GO T 4,600 % § wlE 34,960 .
# e fo St 4 9 A 27§ 1 A wamww = AR
? 6% aiftF 8 0 39 T TR F W A e #=
yfirem s Fifen |

Manohar purchased an old scooter of Rs. 4,600 and
sold it at Rs. 4,960 payable at the end of 4 years. If
rate of simple interest is 6% per annum, find the
profit or loss present at per cent to Manohar,

15 s % i 15 & qg wuw 8 demsil w1 siwa
8 &1 sifim 7 HeEmai w1 oiwa 9@ w0

The average of 15 number is 15 and the average of
the first 8 number is 8. Find out the average of the
last 7 number.
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Agar
Or

foeit wfedmit witen & =W fawa ¥ ait @9t favi &
wfuma siw gam €| fafv= fawdi 4 s g &
% 3:4:6:7 ¥ a9z 39% waiw @ F@ 4m
FA H T 60% B A 3% FHad v ¥ s 50
wfvea | sifus 2 2

In a competitive examination there are four subjects
and all carry equal maximum marks. A candidate’s
marks are in the proportion of 3: 4 : 6 : 7 and his
aggregate of marks is 60% of full marks. In how
many subject did he get more than 50% marks ?
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